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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions.

Each question carries 1 mark.

Questions from serial number 9 to 20 are 3 marks questions.

Answers of these questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions.

Answers of these questions should not exceed 100 words each.

Question number 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book.



HTEIE ShIf~ehTIal ol T&I T T oT ?
AYAT

1 Tt <ht s 31ed @ 2

What was the main aim of the French revolutionaries ?

OR

What is the meaning of concentration camps ?

AIETE =gl H @it T YR fietd 8 2

How do minerals occur in sedimentary rocks ?

9T | 3T 2006 h S IO T GEI AL FAT AT ?
What was the main aim of the popular movement of April 2006, in Nepal ?

A I§ Y hg Tohd g [ AlhdlHeh SIGLATE TSHITdeh THMAT T AT
Bt § ?

How can you say that democracies are based on political equality ?

TSHfdes el B 9&qrd 1 faenfyd grar & 2

Why do political parties involve partisanship ?

STATIHATI o 2t TIN Y FAT AIH 2 ?

What is meant by double coincidence of wants ?

o T o6 3T ATe-fi ST w1y HIH % S0 GHET SEd §; dl 36
ToTT 319 YN R HH-91 vegi=rg (AT g@1 amant ?

Suppose your parents want to purchase Gold jewellery along with you;
then which logo will you look for on the jewellery ?

o= <1 gfshan © gg1 ford Tehm W= o1 T LT B 2

How does money act as a medium of exchange ?
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9. YU T HEH(d & HeAH § PTG fh8 TR forehféd g1 ? w9 I |
AAAT

ufd sAe A foraam o onfdfes fasm & uar § fohd R & e w&da fhu 2
g HIfT | 3

How did nationalism develop through culture in Europe ? Explain.
OR

How did Paul Bernard argue in favour of economic development of
Vietnam ? Explain.

10. ‘1 T’ i Y@ foRiwarsti &1 avie i | 3

Describe the main features of ‘Poona Pact’.

11. 3uMawEE & faeg “Gae I fha TR ueh guret gl ot 2 w9y HifSu | 3

How did ‘Salt March’ become an effective tool of resistance against
colonialism ? Explain.

12. 9Nd ¥ I&geN R AGR & fou aitass & geg @1gq & &9 § | qiEsd &1
e TE HINT | 3

Explain the importance of railways as the principal mode of transportation
for freight and passengers in India.

13. ‘SRHATY YR & U gl IR 30uTd o ATERIY ITNT Hehfgd F1 & ? BN
EARErGLREETIE I 3x1=3

Why has the ‘Chhotanagpur Plateau Region’ the maximum concentration
of iron and steel industries ? Analyse the reasons.

14. ¥RA H o1 h! THET Sl R Fo1l hH $S 8¢ d g R Fohdll g ? 3 =R
fafee | 3

How can solar energy solve the energy problem to some extent in India ?
Give your opinion.

15. “ToHifas gal % a0y IvERe god THR O B 9 Uh g |7 39 HAT h
fergerwor Shifs | 3

“Dynastic succession is one of the most serious challenges before the
political parties.” Analyse the statement.
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16. ATohdlf—ish oILAT fohE Th AWIRGER <hl ARt T MR & Ufd
IR 3 fFer 2 2 fagawn hifse | 3

How is democracy accountable and responsive to the needs and
expectations of the citizens ? Analyse.

17. ‘T wfd & oI v geraeR 8 17 39 e o 9d H 74 b 4T | 3

“A challenge is an opportunity for progress.” Support the statement with
your arguments.

18. =y gg1 i, fSeeht st o8 3w T8 2, fafme @ mem @b wien
feReT ST 2 ? SR FTA il | 3

Why is modern currency accepted as a medium of exchange without any
use of its own ? Find out the reason.

19. “facsht sar fafim 2o o a9 ) 799 | Siedt 8 17 HAd % 9 H deh
T | 3

“Foreign trade integrates the markets in different countries.” Support the
statement with arguments.

20. 3EET ¢ T HIfT o @faqfd Famo & SAfUeR &1 39 fhg JehR 3T
T Hehd 7 | 3

Explain with an example how you can use the right to seek redressal.

21. WFHE i@l g/ 38T MU foheal 9T shedl 1 duig <hife, fores
HIHTE AT H Ueh ATfgeh T8 hl a1 el gl Tehl |

e
‘YeriTT Sl & o foepm o folu wrHifemt g e v fopeadl uier shedl
U HIY | 5

Describe any five steps taken by the French Revolutionaries to create a
sense of collective identity among the French people.

OR

Describe any five steps taken by the French for the development of the
‘Mekong Delta Region’.
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22. ‘gfey stasn A & Ui AR sEaTiE] 3T STdiaEl gl STuEE T v
&l T8 HIT | 5

Explain the attitude of the Indian merchants and the industrialists

towards the ‘Civil Disobedience Movement’.

23. fafqmior 3= 50 wed 8 2 30 fawm 1 fg i g F 99 Sar 8 2 S
1 foa=mr fhifsw | 1+4=5

What is the manufacturing sector ? Why is it considered the backbone of
development ? Interpret the reason.

24, YR H 99" YR AT H R A ST STARH 399 hIF-A1 § ? 389 i &9
o HET ol 3Thai hilog | 1+4=5

Which is the most abundantly available fossil fuel in India ? Assess the

importance of its different forms.

25. USHIfdeh 2 1 1 AMY™ 3 2 TsHIfdeh 2 o diF 3Taadl sl 94 hHIfu |
2+3=5

What is meant by a political party ? Describe the three components of a
political party.

26. TSHITdh gl o IR & ol IS ura qurel 3Ur sy | 5x1=5

Suggest any five effective measures to reform political parties.

27. T I ALTTEAT H o Tohd TR AEwYUl YHehT HHTd & ? TIE hiT | 5

How do banks play an important role in the economy of India ? Explain.

28. “IvdlieRtu TR IAEHl h S gk Whieddt ¥ IuWEST P ad gl = |7
I |igd 39 Hed H gfE HfT | 5xI=5

“Globalisation and greater competition among producers has been
advantageous to consumers.” Support the statement with examples.
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29. OF @& A, B 3R C, WRa o fgu MU UorHifas f@Am=E (98 9 W), ¥
siford fopu T § | 31 &l o Fefafga S B e & geEfie et
3ok TE I, AT W i TE {@ren ) ke 3x1=3

A, I8 TIM JEI WA TR HEE 1 A g0 A1 |
B. 9% TJM I fhdMI % TIwE | ST o7 |

C. J% TJM I AN TG bl 9198 o+ § &1 o1 |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following

information and write their correct names on the lines marked in the map :
A. The place where the Indian National Congress Session was held.

B. The place associated with the Peasant’s Satyagraha.

C. The place related to calling off the Non-Cooperation Movement.

Fig:  FHECTRIT J97 A gIRETaT ghgnteEl & o/ Jv7 e 29 & T T/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 29 :

(29.1) 39 TN &1 9W fafge, J&f yid™ T suw & sifteyH foamr
1920 © g3 o1 |

(29.2) 3T TAA 1 A faiRgw, S e Ht @t FE O fhaET & e §
ST o |

(29.3) 38 TIM 1 AW [ARGT, S ToRId § FREMT & TWE & JT o1 | 3x1=3

(29.1) Name the place where the Indian National Congress Session was
held in December 1920.

(29.2) Name the place associated with the movement of Indigo Planters.
(29.3) Name the place related to the Satyagraha of peasants in Gujarat.
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30. (30.1) T @& A 3R B, WRa % feU ¢ TSI @A (98 11 W),
# siferd fpu T § | 3 el @ FefaRad SRS EgEEr
JE-T 3 39k Tl 9, A W Gl 78 W@ieti | fafey © 2x1=2

A, AE-3TEH @H

B. Yd-qfvem mfcm w1 R @1 weE

(30.2) fTr=fafaa = v & st UoHifaes Wer-AERT W ewist 3 39
W%ﬁ\@?: 1
fommaTIeTy — Gt Wenfieh! areh

(30.1) Two features A and B are marked on the given political outline
map of India (on page 11). Identify these features with the help
of the following information and write their correct names on
the lines marked in the map :

A. Iron-ore mines

B. Terminal Station of East-West Corridor

(30.2)  On the same political outline map of India, locate and label the
following :

Vishakhapatnam — Software Technology Park

Fie:  [AEliaga Jv7 Fac giEETGT GhefAEt & 77 Jv7 & 30 F T W

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30 :

(30.1) SATSHAT WIB-3TT&h @H ford Tog | fooq @ 2
(30.2) Ud-ufvem e & ufvedt fR % wewm %1 am fafe |
(30.3) hdlesh TUsT H Toq Ufig Aigeaaw Trenfiehl uteh <1 9m faifgw | 9x1=3

(30.1) In which state are Bailadila Iron-ore mines located ?
(30.2) Name the Western Terminal Station of East-West Corridor.

(30.3) Name the well-known Software Technology Park located in
Karnataka State.
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I3 9. 29 & forw For question no. 29
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I3 9. 30 & forw For question no. 30

WA kT WET-HTA T (TR
Outline Map of India (Political)
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